
Giải bài 1 trang 29 sách giáo khoa Toán lớp 5 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 1. Viết số thích hợp vào chỗ chấm: 

a) 4ha = ... m² 

 

ha = ... m² 

20ha = ... m²     

ha = ... m² 

1km² = ... m²            

km² = ... ha 

15km² = ... ha                      

km² = ... ha   

b) 60 000m²  = ... ha 

1800ha = ... km²   

800 000m²  = ... ha 

27000 ha = ... km²   

Đáp án 

a) 4ha = 40 000 m²                     

ha = 5000m² 

20ha = 200 000m²     

ha = 100 m² 

1km² = 100 m²            

km² = 10 ha 

https://doctailieu.com/giai-bai-1-trang-29-sgk-toan-lop-5
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172
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15km² = 1500 ha                      

km² = 75 ha 

b) 60 000m²  = 6 ha 

1800ha = 18 km²   

800 000m²  = 80 ha 

27000 ha = 270 km²   

 

https://doctailieu.com/giai-bai-1-trang-29-sgk-toan-lop-5
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

